Anncm-é;

S.No. Description Qty. Required
Aluminum Extruded Struts and Fittings
Application : For Aluminum structure construction
1 Aluminum Strut Profiles (with Plastic End Caps)
11 | * X-Section : 40 x 40 Heavy Length : 5000 (detailed specs at Annex-1) 200 Nos.
1.2 | * X-Section : 40 x 80 Heavy  Length : 5000 (detailed specs at Annex-1) 200 Nos.
13 | * X-Section : 80 x 80 Heavy Length : 5000 (detailed specs at Annex-1) 100 Nos.
2 Conduit Profiles (with Plastic End Caps)
21 | * X-Section : 40 x 40  Length : 5000 (detailed specs at Annex-2) 50 Nos.
22 | * X-Section : 40x 80 Length : 5000 (detailed specs at Annex-2) 50 Nos.
3 Fastening Elements (Material : Galvanized Steel
3.1 | * T-Nut M8 forslot |0 mm (detailed specs at Annex-3) 1000 Nos.
32 | * T-Nut M6 forslot 10 mm (detailed specs at Annex-3) 1000 Nos.
3.3 | * T-Nut M5 forslot 10 mm (detailed specs at Annex-3) 1000 Nos.
3.4 | * T-Nut M4 forslot 10 mm (detailed specs at Annex-3) 1000 Nos.
35| * T-Bolt M8 for slot 10 mm (detailed specs at Annex-3) 1000 Nos.
36 | * Hole Reducer Bolt M14/M8 (detailed specs at Annex-3) 500 Nos.
3.7 | * Subsequent Nut M8 for slot 10 mm (detailed specs at Annex-3) 250 Nos.
3.8 | * Subsequent Nut M6 for slot 10 mm (detailed specs at Annex-3) 250 Nos.
39 | * Subsequent Nut M5 for slot 10 mm (detailed specs at Annex-3) 250 Nos
3.10| * Subsequent Nut M4 for slot 10 mm (detailed specs at Annex-3) 250 Nos.
4 Zinc Plated Steel
4.1 | * Oblique Anchor Connector for slot 10 mm with complete set of fastners (detailed Specs at Annexure 4) 100 Sets
4.2 | * Inner Bracket M8 10/10 with complete set of fastners (Slot 10/10)(detailed Specs at Annexure 4) 350 Sets
4.3 | * Inner Bracket R M8 10/10 with complete set of fastners (Slot 10/10)(detailed Specs at Annexure 4) 350 Sets
4.4 | * Linear Bar Connector 180 for slot 10mm complete set of fastners (detailed at Annexure 4) 50 Sets
5 Connccting Elements (Material : Zinc Allov)
5.1 | * Joint 40 x 40 Type A with complete set of fastners (detailed Specs at Annexure 4) 100 Sets
52 | * Joint 40 x 40 Type B with complete set of fastners (detailed Specs at Annexure 4) 100 Sets
53 | * Joint 40 x 40 Type C with complete set of fastners (detailed Specs at Annexure 4) 100 Sets
6 Connecting Elements (Material : Die Cast Aluminum
6.1 | * Bracket 40/40 with complete set of fastners (detailed Specs at Annexure 4) 1500 Sets
6.2 | * Bracket 40/80 with complete set of fastners (detailed Specs at Annexure 4) 500 Sets
6.3 | * Bracket 80/80 with complete set of fastners (detailed Specs at Annexure 4) 500 Sets
6.4 | * Cubic Connector 40/3 with complete set of fastners (detailed Specs at Annexure 4) 100 Sets
7 Connecting Elements (Material : Aluminum)
7.1 | * Angle Profile Bracket 40/40 with complete set of fastners (detailed Specs at Annexure 4) 200 Sets
7.2 | * Angle Profile Bracket 80/80 with complete set of fastners (detailed Specs at Annexure 4) 200 Sets




S.No. Description Qty. Required
8 Profile Accessories (Material : ABS)
8.1 | * End Cap for X Section 40 x 40 (detailed Specs at Annexure 5) 500 Nos.
8.2 | * End Cap for X Section 40 x 80 (detailed Specs at Anncxure 5) 500 Nos.
8.3 | * Conduit End Cap for X Section 40 x 40 (detailed Specs at Annexure 3) 200 Nos.
8.4 | * Conduit End Cap for X Section 40 x 80 (detailed Specs at Annexure 5) 200 Nos.
85 | * T Slot Cover for slot 10 mm (Color: Grey ~ Length 2000 mm) (detailed Specs at Annexure 5) 500 Nos.
9 | Floor Elements
9.1 | * Leveling Foot - Fixed Foot M12 X 70 (detailed Specs at Annexure 6) 100 Nos.
9.2 | * Mounting Plate X Section 40 x 40 (M12) with complete set of fastners (detailed Specs at Annexure 6) 50 Sets
9.3 | * Mounting Plate X Section 40 x 80 (M12) with complete set of fastners (detailed Specs at Annexure 6) 50 Sets
9.4 | * Mounting Plate X Section 80 x 80 (M12) with complete set of fastners (detailed Specs at Annexure 0) 50 Sets
9.5 | * Leveling Castor (Max Load 5000 N) with complete set of fastners (detailed Specs at Annexure 6) 50 Nos.
10 | Swivel Fastening, 180° (Material : Galvanized Stecl
10.1| * Swivel Fastening 180" complete set (for 10/10) (detailed Specs at Annexure 7) 20 Sets
Note
1. Aluminum Struts and accessories having profiles close to the above will be acceptable
2. The quoted struts should be straight, bearing good surface finish
3. Scope of Supply : According to relevant appendix of each item
4. Manufacturer : Bosch Rexroth AG, Germany or Equivalent.
(If equivalent product is quoted, complete literature will be required for evaluation)
5. Incomplete quotation will not be Considered




ANNEXURE-1

10340 4 slots Heavy 4050 6 slots Heavy
= lots Heav i .
Lomio 48 E R 0x50 6% A 2
4 =
= |
N ) | Y= -
4 5 il ¢ ; T )
N SC | 5 N
ol /T\\____n! | { ., : 4
17 ML == AnY R A
W SE | LN e
i i e ha Al L :[
P5{ME) ©12(M14) Sl ‘ K&
- PS{NE) Qi(Mts) 102
1.1.X-Section : 40 x 40 Heavy 1.2.X-Section : 40 x 80 Heavy
80x80 8 slots Heavy
80x80 8iE F=H
80
70
40

P5(M6) P12{M14)

1.3. X-Section : 80 x 80 Heavy




ANNEXURE-2

Canrduit Prof ‘a-<4Cxa0
SR REF 40240
ED)
343
.
= 7,
= 12
~ il
Gl lap) <

Condut Preile-40x80
L EABIA-40830

=0

1

20

Y o
i

FF4

2.1. Conduit X-Section : 40 x 40

2.2. Conduit X-Section : 40 x 80 Heavy




ANNEXURE-3

3.6. Hole Reducer Bolt M14/M8 3.7.-3.10. Subsequent Nut M8/M6/M5/M4 for slot 10 mm




ANNEXURE-4

Streie [Moce P)
VEMA @)

Linzar Bar Cennector-10
HWEAE-10

r:ﬂ o

4.3. Inner Bracket R M8 10/10

Jeint-Type 8

5.1. Joint 40 x40 Type A

5.2. Joint 40 x40 Type B

PR

loi T © 2 \ Type C
ek 1\‘* *TEe

PGAC-40x40
40 F51-40x40

36
§;§_1
ml
w| —
- .
5.3. Joint 40 x 40 Type C 6.1. Bracket 40/40
PGA0-40x80 PO4-20450
ADE-40x80 155 51-80x80
2
AL 11 2
el 3

6.2. Bracket 40/80

6.3. Bracket 80/80




ANNEXURE-4

7.1. Angle Profile Bracket 40/40

6.4. Cubic Connector 40/3

7.2. Angle Profile Bracket 40/80




ANNEXURE-5

2 |

8.3. Conduit End Cap for X Section 40 x 40 8.4. Conduit End Cap for X Section 40 x 80
T Slst Cover-10 -

TRAEINE-10

8.5. T Slot Cover for slot 10 mm




ANNEXURE-6

9.4. Mounting Plate X Section 80 x 80 (M12)




ANNEXURE-7

10.1. Swivel Fastening 180"




